Cylinder Pressure (bar) and CO&CO, (%)

Cold start 1.8 litre port fuel injected gasoline engine
HC, CO and CO, measured in exhaust port of cyl # 3
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2nd firing cycle is rich shown by the 10% CO ——COo
level. Both CO and CO2 can be used to co2
calculate combustion A as 0.7 C
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First firing cycle pressure indicates
25 a late burn and zero CO indicates 3rd and 4th cycles are both misfires causing high HC. 4 50000
lean combustion. The cylinder CO and CO2 are purged as residual gas from the
combustion A can be calculated cylinder
from the CO2 as 1.7 ) .
20 1 Subsequent few cycles from this cylinder L 40000
run rich as engine settles to idle at A = 0.6
Engine begins to crank on exhaust stroke,
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